Conveyor Safety Switch

PULL CORD SWITCH
BELT SWAY SWITCH
BELT ALIGNMENT SWITCH
CHUTE SWITCH
SPEED SWITCH
LIMIT SWITCH
WARNING HORN
WARNING HORN WITH LIGHT
INDICATING LIGHT
FLOW SWITCH

BELT RIP SWITCH

PADDLE SWITCH
CAPACITY LEVEL SWITCH

DIAPHARM LEVEL SWITCH
PULL CORD SWITCH HARDWEAR (ACC)

DSS Co.,Ltd.

Daesung Switch

i

TEL. +82-51-628-9626~7 FAX. +82-51-628-9628
http://dss.koreasme.com http://switch.koreasme.com



PULL CORD SWITCH

DBSS-10

Hl SPECIFICATIONS

* TYPE : MANUAL RETURN
« CONTACT CAPACITY : 15A 125VAC.
10A 250VAC. 15A 14VDC
* NUMBER OF CONTACTS : SPDT X 2EA
* REQUIRED FORCE OF PULL CORD : 7+ 1Kg
« CABLE ENTRY : PF 3/4" X 2EA
» ACTIVATE ON PULL OF THE ROPE
IN EITHER DIRECTION
* RED PAINTED MECHANICAL INDICATOR
* PROTECTION : IP65 (IEC—60947—-5—1)
 CE CERT (TUV)
* WEIGHT : 2.5Kg
* MOUNTING BOLT & NUT /WASHER (M8)
* COLOR : HAMMERTION FE411

% 85 Operating Indicator Plate 0

\ 7 Lock Position
\ S 35
Q¢ -
? = S Pulling Direction
— ¢ S g
@\ ° ® 11 2-PF 3/4" ?\ %
2 Q ® 8
o |
o ¢ PULL CORD SWITCH
g -_—tt—-1- ~ ODEL 085510
<
| ] 3 /&
h
S 12]_28 28 _[12
¥ | |20 \34 55
2-310 o
110
223 220
CONNECTION & DIAGRAM
® BODY ® LEVER LINK

. @ COVER ® PLATE HOLDER
® INDICATOR PLATE @ CONNECTION BOLT
O ® © @ LEVER CABLE GRAND HOLE

NC COMm NO NC COM

Conveyor Safety Switch



PULL CORD SWITCH

DBSS-10EX
(EXPLOSION PROOF)

l SPECIFICATIONS

« TYPE : MANUAL RETURN
« CONTACT CAPACITY : 15A 125VAC.
10A 250VAC. 15A 14VDC
« NUMBER OF CONTACTS : SPDT X 2EA
« REQUIRED FORCE OF PULL CORD : 7=+ 1Kg
« CABLE ENTRY : NPT 3/4" X 2EA
« ACTIVATE ON PULL OF THE ROPE
IN EITHER DIRECTION
« RED PAINTED MECHANICAL INDICATOR
« PROTECTION : EXPLOSION PROOF
(EX tD A22 T85°C IP66)
« WEIGHT : 3.5Kg
« MOUNTING BOLT & NUT /WASHER (M8)
« COLOR : HAMMERTION FE411

Operating Indicator Plate

‘*

Lock Position
35

e

il
==
L ®
—©@

2-NPT 3/4"

R Cll Ol

100

290 220

o

CONNECTION & DIAGRAM

® BODY(1) ® LEVER LINK
7 @ BODY(2) @ PLATE HOLDER
[EQ [‘EQ @ TERMINAL COVER CONNECTION BOLT
® © @ INDICATOR PLATE © CABLE GRAND HOLE
NO NC COoM NO NC com ® LEVER

DSS Co., Ltd. 03



PULL CORD SWITCH

DBSS-10L

Hl SPECIFICATIONS

* TYPE : MANUAL RETURN &
FLICKERING LAMP (NC TYPE)

* CONTACT CAPACITY : 15A 125VAC.

10A 250VAC. 15A 14VDC
* NUMBER OF CONTACTS : SPDT X 2EA
« REQUIRED FORCE OF PULL CORD : 7+ 1Kg
« CABLE ENTRY : PF 3/4" X 2EA
» ACTIVATE ON PULL OF THE ROPE

IN EITHER DIRECTION
* RED INDICATING LIGHT
* RED PAINTED MECHANICAL INDICATOR
+ PROTECTION : IP65 (IEC—60947—-5—1)
« CE CERT (TUV)
* WEIGHT : 2.5Kg
* MOUNTING BOLT & NUT /WASHER (M8)
* COLOR : HAMMERTION FE411

:
i . . 30°
85 Operating Indicator Plate \
_\ Lock Position

\ & 35
¢ |
ﬁ & Pulling Direction
Z
2-PF 3/4" e S(/
® s . al ¥ %
< Q () 8
o L
° | PULL GORD SWITCH
© c——|bdloc——dls = MODEL:DBSS-104
o = — 2-310
I~ —
o 12| _28 28 _[12
o
V| 20 N34 55
2-¢10 o
110
223 220

o

CONNECTION & DIAGRAM @ BODY @ PLATE HOLDER
o @ COVER @ CONNECTION BOLT
@ INDICATOR PLATE CABLE GRAND HOLE
@ LEVER © LAMP
® ©
NO NC COM NO NC COM ® LEVER LINK

04 Conveyor Safety Switch



PULL CORD SWITCH

DBSS-10EX-L
(EXPLOSION PROOF)

B SPECIFICATIONS

* TYPE : MANUAL RETURN &
FLICKERING LAMP(NC TYPE)
» CONTACT CAPACITY : 15A 125VAC.
10A 250VAC. 15A 14VDC
* NUMBER OF CONTACTS : SPDT X 2EA
» REQUIRED FORCE OF PULL CORD : 7+ 1Kg
« CABLE ENTRY : NPT 3/4"X 2EA
» ACTIVATE ON PULL OF THE ROPE
IN EITHER DIRECTION
* RED INDICATING LIGHT
* RED PAINTED MECHANICAL INDICATOR
« PROTECTION : EXPLOSION PROOF
(EX tD A22 T85C IP66)
* WEIGHT : 3.5Kg
» MOUNTING BOLT & NUT /WASHER (M8)
* COLOR : HAMMERTION FE411

(‘D\ \ Operating Indicator Plate

125
]
L
\:i
]
|
|
—©
2
o
g
|

260
7Ih
| |
1
130

HEX.16 DP10

100

20 N\ 34 |

2-310

176
290 220

o

CONNECTION & DIAGRAM @ BODY(1) ® LEVER LINK
@ BODY(2) @ PLATE HOLDER

@ TERMINAL COVER CONNECTION BOLT
@ INDICATOR PLATE © CABLE GRAND HOLE
©© ® LEVER LAMP

NO NC COM NO NC COM

DSS Co., Ltd. )5



PULL CORD SWITCH

DBSS-10K

B SPECIFICATIONS

« TYPE : BUTTON RESET
« CONTACT CAPACITY : 15A 125VAC.

10A 250VAC. 15A 14VDC
« NUMBER OF CONTACTS : SPDT X 2EA
« REQUIRED FORCE OF PULL CORD : 7+ 1Kg
« CABLE ENTRY : PF 3/4"x 2EA
« ACTIVATE ON PULL OF THE ROPE

IN EITHER DIRECTION
« RED PAINTED MECHANICAL INDICATOR
« WEIGHT : 2.5Kg
« COLOR : HAMMERTION FE411
« PROTECTION : IP65 (IEC—60947—5—1)
« MOUNTING BOLT & NUT / WASHER (M8)
« CE CERT (TUV)

30

/Lock Position

Pulling Direction
(WIRE)

2-PF 3/4"

RETURN

PULL CORD SWITCH

218

RESET KEY

55

2-910 Pulling Direction

(WIRE)

110

CONNECTION & DIAGRAM @ BODY ® PLATE HOLDER

5 @ COVER @ RESET KEY
@ INDICATOR PLATE CONNECTION BOLT
é) @ LEVER © CABLE GRAND HOLE
® ©®
N ® LEVER LINK

NC COM NO NC COM

Oé Conveyor Safety Switch



PULL CORD SWITCH

DBSS-10EX-K
(EXPLOSION PROOF)

B SPECIFICATIONS

« TYPE : BUTTON RESET
« CONTACT CAPACITY : 15A 125VAC.
10A 250VAC. 15A 14VDC
« NUMBER OF CONTACTS : SPDT X 2EA
« REQUIRED FORCE OF PULL CORD : 7=+ 1Kg
« CABLE ENTRY : NPT 3/4" X 2EA
« ACTIVATE ON PULL OF THE ROPE
IN EITHER DIRECTION
« RED PAINTED MECHANICAL INDICATOR
« PROTECTION : EXPLOSION PROOF
(EX tD A22 T85°C IP66)
« WEIGHT : 3.5Kg
« MOUNTING BOLT & NUT /WASHER (M8)
« COLOR : HAMMERTION FE411

Lock Position

e R, Pulling Direction

9 ?
_-___125\ ,
|_ 1
Ol
S ! \w RESET KEY _:
N
I I iz
® 20 [\34 S
175 Pulling [er\‘lelgg)n
2-310 110
a4
CONNECTION & DIAGRAM @ BODY ® PLATE HOLDER

@ COVER @ RESET KEY

’ ® INDICATOR PLATE CONNECTION BOLT
@ LEVER © CABLE GRAND HOLE
& © ® LEVER LINK

NO NC COM NO NC COM

DSS Co.,Ltd. )7/



PULL CORD SWITCH

30

83

i

105

135

107

@\ A

CONNECTION & DIAGRAM

RO

NO NC COM NO NC cOoMm

08 Conveyor Safety Switch

RETURN

RESET KEY

Pulling Direction
(WIRE)

DBSS-10-U
DBSS-10-U-KM

Hl SPECIFICATIONS

« TYPE : BUTTON RESET & TOP COVER STYLE
« CONTACT CAPACITY : 15A 125VAC.
10A 250VAC. 15A 14VDC
« NUMBER OF CONTACTS : SPDT X 2EA
« NON—CONTACT : SPDT (DBSS—10—U—KM)
« REQUIRED FORCE OF PULL CORD : 7=+ 1Kg
« CABLE ENTRY : NPT 3/4" X 2EA
« ACTIVATE ON PULL OF THE ROPE
IN EITHER DIRECTION
« RED PAINTED MECHANICAL INDICATOR
« PROTECTION : IP 65
« WEIGHT : 3.5Kg
« MOUNTING BOLT & NUT /WASHER (M8)
« COLOR : HAMMERTION FE411

—%

Lock Position

Pulling Direction
(WIRE)

Operating Indicator Plate

T —
|SE

13

@9 X 2 MOUNTING HOLE

132
159

185

® BODY ® PLATE HOLDER

@ COVER @ RESET KEY

@ INDICATOR PLATE CONNECTION BOLT
@ LEVER © CABLE GRAND HOLE
® LEVER LINK



BELT SWAY SWITCH

DBSS-20

B SPECIFICATIONS

« TYPE : AUTO RETURN
« CONTACT CAPACITY : 15A 125VAC.
10A 250VAC. 15A 14VDC
« NUMBER OF CONTACTS : SPDT X 2EA
« ADJUSTABLE 2—POSITION :
25° (ARARM) & 35° (TRIP)
« CABLE ENTRY : PF 3/4" X 2EA
« PROTECTION : IP65 (IEC—60947—5-1)
« CE CERT
« WEIGHT : 3Kg
« MOUNTING BOLT & NUT /WASHER (M8)
« COLOR : HAMMERTION FE411

o ALARM
25°
@61
!
T )
1
|| |
1
g i
1
|
<
IS i ——
| + 2-PF 3/4"
: 2
® 5
o
oL £
@ % £ S : <
=0
& | : 1
B HE
54
20 | 34 55 110
57 109 134

CONNECTION & DIAGRAM
® BODY ® FIXING BOLT

@ COVER ® ROLLER SHAFT
@ TOUCH ROLLER @ CONNECTION BOLT
ORORORORONO, @ ANGLE LEVER CABLE GRAND HOLE

NC CoM

DSS Co., Ltd. ()9



BELT ALIGNMENT(MISALIGNMENT) SWITCH

DBSS-20EX
(EXPLOSION PROOF)

B SPECIFICATIONS

» TYPE : AUTO RETURN

» CONTACT CAPACITY : 15A 125VAC.
10A 250VAC. 15A 14VDC

* NUMBER OF CONTACTS : SPDT X 2EA

» ADJUSTABLE 2—POSITION :
25°(ARARM) & 35° (TRIP)

« CABLE ENTRY : NPT 3/4"X 2EA

* PROTECTION : EXPLOSION PROOF
(EX tD A22 T85C IP66)

* WEIGHT : 4.2Kg

« MOUNTING BOLT & NUT /WASHER (M8)

* COLOR : HAMMERTION FE411

261 o ALQ/;ﬁM
— T : :f’ﬁ
@1 | | |
8 | @ ' 3
& i | (2
| | c _
N |
1 | /’
126 A S, —
| 2-NPT 3/4" 6 0 <
@ — I Q?~ 1 ,/’/ s
a)iz) y
&1 T Eg P ;
o= L 1 T HEX.16 DP10 %
3 (HEX.16DP10 5 g4
/ —
® Y &)
20| 34 54
57 176 o
233 134
CONNECTION & DIAGRAM @ BODY() ® FIXING BOLT
9 @ BODY(2) @ ROLLER SHAFT
@ TERMINAL COVER CABLE GRAND HOLE
ONO @ TOUCH ROLLER © CONNECTION BOLT
NO NC com NO NC com @ ANGLE LEVER

] O Conveyor Safety Switch



BELT ALIGNMENT(MISALIGNMENT) SWITCH

DBSS-20-U

B SPECIFICATIONS

« CONTACT CAPACITY : 15A 125V.
10A 250VAC. 15A 14VDC
« NUMBER OF CONTACTS : SPDT X 2EA
« ADJUSTABLE 2—POSITION :
25° (ARARM) & 35° (TRIP)
« CABLE ENTRY : NPT 3/4" X 2EA
« PROTECTION : IP 65
« WEIGHT : 3.5Kg
« MOUNTING BOLT & NUT /WASHER (M8)
» COLOR : HAMMERTION FE411

o ALARM
25°

136

g
®—] 2
2
3 —11 T
b _— <
&
O—
13
- 132
?9 X 2 MOUNTING HOLE
107 159
184
CONNECTION & DIAGRAM
Z @ BODY ® FIXING BOLT
@ COVER ® ROLLER SHAFT
G 6 @ TOUCH ROLLER @ CONNECTION BOLT
NO NG cOM NO NG cOM @ ANGLE LEVER CABLE GRAND HOLE

DSS Co.,Ltd. | |



DCS-30EX

(EXPLOSION PROOF)

B SPECIFICATIONS

« TYPE : TILT
* MODEL : DCS—30EX
» CONTACT CAPACITY :
5A 125VAC. 3A 250VAC.
* NUMBER OF CONTACTS : SPST
* INCLINATION TILT OF
OPERATING : 25" £3°
« PROTECTION : EXPLOSION PROOF
(EX tD A22 T85C IP66)
« WEIGHT : 1.7Kg
+ OPTION : CONTROL UNIT
(1) CONTACT CAPACITY :
10A 125VAC. 5A 250VAC
(2) NUMBER OF CONTACTS :
SPDT X 2EA
(3) POWER : 85—250VAC
FREE VOLTAGE

DCS-30EX(F)
(EXPLOSION PROOF)

B SPECIFICATIONS

* TYPE : TILT
MODEL : DCS—30EX(F)
CONTACT CAPACITY :
5A 125VAC. 3A 250VAC
PROTECTION : EXPLOSION PROOF
(EX tD A22 T85C IP66)
* NUMBER OF CONTACTS : SPST
* INCLINATION TILT OF
OPERATING : 25" £3°
« WEIGHT : 2Kg
* OPTION : CONTROL UNIT
(1) CONTACT CAPACITY :
10A 125VAC. 5A 250VAC
(2) NUMBER OF CONTACTS :
SPDT X 2EA
(3) POWER : 85—250VAC
FREE VOLTAGE

] 2 Conveyor Safety Switch

201

CABLE ¢7.4

ACTUATING ANGLE

@20
A CONNECTION & DIAGRAM
N7
® BODY @ CHAIN
@ COVER ® ELECTRICAL CABLE

@ CHAIN HANGER

ACTUATING ANGLE

@20

CCONNECTION & DIAGRAM
- NORMAL CLOSE
mmmmm

@ BODY @ CHAIN
@ COVER ® ELECTRICAL CABLE
@ EYE-BOLT



236

171

CONNECTION & DIAGRAM

Qj 50 ACTUATING ANGLE

@ BODY @ CHAIN
@ COVER ® ELECTRICAL CABLE
® EYE-BOLT
i A @30
@\’\

CABLE @5

N

CONNECTION & DIAGRAM

NORMAL CLOSE
oooooo

A
Lo

¢ 30 ACTUATING ANGLE

162

@ BODY @ STEEL-COATING WIRE
@ COVER @ ELECTRICAL CABLE

DS-311SM

H SPECIFICATIONS

* MODEL : DS—311SM
» CONTACT CAPACITY :
5A 125VAC. 3A 250VAC.
» PROTECTION : IP 65
* NUMBER OF CONTACTS : SPST
 INCLINATION TILT OF
OPERATING : 25" £3°
« WEIGHT : 2Kg
+ OPTION : CONTROL UNIT
(1) CONTACT CAPACITY :
10A 125VAC. 5A 250VAC
(2) NUMBER OF CONTACTS :
SPDT X 2EA
(3) POWER : 85—250VAC FREE VOLTAGE

DS-311SM-S

Hl SPECIFICATIONS

* MODEL : DS—311SM—-S
CONTACT CAPACITY :
B5A 125VAC. 3A 250VAC.
PROTECTION : IP 65
* NUMBER OF CONTACTS : SPST
INCLINATION TILT OF
OPERATING : 20" £3°
WEIGHT : 1Kg
» OPTION : CONTROL UNIT
(1) CONTACT CAPACITY :
10A 125VAC. 5A 250VAC
(2) NUMBER OF CONTACTS :
SPDT X 2EA
(3) POWER : 85—250VAC FREE VOLTAGE

DSS Co.,Ltd. |3



DBSS-40EX-P
(EXPLOSION PROOF)

B SPECIFICATIONS

« TYPE : ONE BODY
* NON—CONTACTING, PROXIMITY TYPE
» DISPLAY WITH SENSOR
« CONTACT CAPACITY : 5A 125VAC. 3A 250VAC
» POWER : AC 85—250V FREE VOLTAGE
» NUMBER OF CONTACTS : SPDT X 2EA
* CONTROL : SPEED : 1—9999RPM
* ON TIME DELAY : 0—30sec
» OFF TIME DELAY : 0—30sec
+ PROXIMITY S/W RANGE : 20mm
« CABLE ENTRY : NPT 3/4" X 2EA
+ PROTECTION : EXPLOSION PROOF
(EX tD A22 T85C IP66)
» WEIGHT : 2.5Kg
« MOUNTING BOLT & NUT / WASHER (M8)
* COLOR : HAMMERTION FE411

2-NPT 3/4"
HEX.16 DP10

B5)
A

| M g '
i 134 T 50

55 24 | 21| 33
54
EQUIPMENT PART @ 255
©\ TERMINAL BLOCK
®\ p [0} (6] ® @ ® [9)
SPEED SWiTeH NO [com| NC | NO |com| NG | POWER
eloloe e olee
O
ON
@ BODY(1) @ LOW SPEED SWITCH
@ BODY(2) SETING SWITCH
@ TERMINAL COVER @ TERMINAL
DRSO @ SENSOR TIME ADJUST
® BOLT @ LED LAMP
® DISPLAY

] 4 Conveyor Safety Switch



2-NPT 3/4"

L 1m0 Naow

PF 172"

138

|

DBSS-40EX-PS
(EXPLOSION PROOF)

B SPECIFICATIONS

TYPE : SEPARATION
NON—CONTACTING, PROXIMITY TYPE
DISPLAY WITH SENSOR

CONTACT CAPACITY : BA 125VAC. 3A 250VAC
POWER : AC 85—250V FREE VOLTAGE
NUMBER OF CONTACTS : SPDT X 2EA
CONTROL : SPEED : 1—9999RPM

ON TIME DELAY : 0—30sec

OFF TIME DELAY : 0—30sec

PROXIMITY S/W RANGE : 20mm

CABLE ENTRY : NPT 3/4" X 2EA
PROTECTION : EXPLOSION PROOF

(EX tD A22 T85C IP66)

WEIGHT : 3.2Kg

MOUNTING BOLT & NUT / WASHER (M8)
COLOR : HAMMERTION FE411

[/

PROXIMITY SWITCH

70
61

TERMINAL BLOCK EQUIPMENT PART
o o [ o © ©\
NO [com NO POWER @\
SAEE) P AR
O—
DSS CO, LTD
@ BODY(1) ® BOLT © TERMINAL
@ BODY(2) ® DISPLAY TIME ADJUST

® TERMINAL COVER

@ SENSOR

@ LOW SPEED SWITCH @@ LED LAMP
SETING SWITCH

63

34

DSS Co.,Ltd. |5



DBSS-40-P

B SPECIFICATIONS

+ TYPE : ONE BODY
NON—CONTACTING, PROXIMITY TYPE
DISPLAY WITH SENSOR

CONTACT CAPACITY :

5A 125VAC. 3A 250VAC

» POWER : AC 85—250V FREE VOLTAGE
NUMBER OF CONTACTS : SPDT X 2EA
CONTROL : SPEED : 1—9999RPM

ON TIME DELAY : 0—30sec

DBSS—EX—W (WHEEL TYPE)

OFF TIME DELAY : 0—30sec
PROXIMITY S/W RANGE : 20mm
CABLE ENTRY : NPT 3/4" X 2EA
PROTECTION : IP 65

WEIGHT : 2.5Kg

MOUNTING BOLT &

NUT / WASHER (M8)

COLOR : HAMMERTION FE411

(EXPLOSION PROOF)

B SPECIFICATIONS

» TYPE : WHEEL

» POWER : AC 85—250V FREE VOLTAGE
» CONTACT CAPACITY :

5A 125VAC. 3A 250VAC

CABLE ENTRY : NPT 3/4" X 2EA
NUMBER OF CONTACTS : SPDT X 2EA
ON DELAY TIME : 0—30sec

] 6 Conveyor Safety Switch

OFF DELAY TIME : 0—30sec
PROTECTION : EXPLOSION PROOF
(EXtD A22 T85C IP66)

WEIGHT : 13Kg

MOUNTING BOLT & NUT / WASHER

COLOR : HAMMERTION FE411

?118
c S¢

O}

110
134

2-NPT 3/4"

\2-810

EQUIPMENT PART

OOP IO
® &

DSS CO,.LTD

TERMINAL BLOCK

© © 0o 6 © © o o
[ o Jeom] nc | no Joom] nc [ Power |

EIEREEEEEE

®\ g

55

o \

HEX.16 DP10

@ ||

55 24

o |

@ BODY()

@ BODY(2)

® TERMINAL COVER
@ SENSOR

® BOLT

® DISPLAY

@ LOW SPEED SWITCH
SETING SWITCH

© TERMINAL

TIME ADJUST

® LED LAMP

HEX.16 nm(i N !

‘us

EQUIPMENT PART 4M6

N

PPETT

EQUIPMENT PART =———

/K$
S

1
62 ‘
170

TERMINAL BLOCK

6o 6 6 06 0 0 o o
[0 [cou] o [ o [cou] o | Povia |

EEEEEREIEIE

VIEW "A"

@® BODY(1)

@ TERMINAL COVER
® SHAFT PROTECTOR
@ WHEEL

® CONN BRICKET

® DISPLAY

@ LOW SPEED SWITCH
SETTING SWITCH

© SENSOR TERMINAL
TIME ADJUST

@ LED LAMP



DS_R1 1 OEX H SPECIFICATIONS
« TYPE : HEAVY DUTY PROTECTION : EXPLOSION PROOF
(EXP LOS'ON PROO F) ACTUATOR : AUTO RETURN (EX tD A22 T85C IP66)

CONTACT CAPACITY : * WEIGHT : 2.2Kg
10A 125VAC, 5A 250VAC « MOUNTING BOLT & NUT / WASHER (M8)
» CONTACT : SPDT X 2EA * COLOR : HAMMERTION FE411

@30x10

il B FREE POSITION
|

PF 3/4” i -
) 0P 25° 0P25° |

am

=

ﬁ \ LEFT MAX 60°

RIGHT MAX 55°

127

\ )
\ )
\ <
‘ ‘
[/ ‘\"‘ L i il
44

70

52

\ P
gE 1
i T
[imi}
30
=
r
100
172

13

all

2-g10
BRACKET HOLE

34 140

57 169

126

2-g10
BRACKET HOLE

[~ CONNECTION & DIAGRAM

® TOUCH BAR @ BOLT

(E g @ BODY ® CABLE GRAND HOLE
OO ® COVER

DS_E1 1 01 EX l SPECIFICATIONS
» TYPE : HEAVY DUTY » PROTECTION : EXPLOSION PROOF
(EXP LOSION PROO F) ACTUATOR : MANUAL RESET (EX tD A22 T85C IP66)

» CONTACT CAPACITY : WEIGHT : 2.5Kg
10A 125VAC, 5A 250VAC » MOUNTING BOLT & NUT / WASHER (M8)
CONTACT : SPDT X 2EA COLOR : HAMMERTION FE411

@30x10

. @
PF 3/4 7 13 127
LB
1P
H
\ Lo
A I3 Th 8 . -
0 u=l'n 2
v
@— }5'— 3 ® \‘\ \ 3
j T _1§_ B 44
34 140
57 169 2-¢510
126 2-310 BRACKET HOLE
BRACKET HOLE
(== CONNECTION & DIAGRAM
p @ TOUCH BAR @ BOLT
g (gl  BODY ® CABLE GRAND HOLE
ve9e ©® COVER

DSS Co.,Ltd. |/



WARNING HORN

SA-10EX-L ~ -
(EXPLOSION PROOF) =

222

AN

B SPECIFICATIONS

« MODEL : SA—10EX—L
« TYPE : WARNING HORN 136 |
& FLICKERING LAMP FRONT VIEW SIDE VIEW

e ]

« POWER : 110/120VAC OR
220VAC. 50HZ/60HZ 0111 L o

| — e |

+ TRANSFORMER VIBRATING

il

STS DIAPHRAGMS }»—E_] | @|

e PROTECTION : C_—_=—=1|
EXPLOSION PROOF BLOCK WIRING DIAGRAM

(EX tD A22 T85TC IP66) BOTTOM VIEW
« SOUND : 130DB/1M
(ADJUSTABLE) ® ®
. LAMP HORN COVER
* WEIGHT : 2Kg @ LAMP BRACKET ® HORN BAND
* COLOR : MAKE STANDARD ® ANCHOR BOLT HOLE @ HORN BODY

@ COVER LOCK BOLT CABLE GRAND HOLE

SA-10EX
(EXPLOSION PROOF)

135
110

2]

l SPECIFICATIONS
» TYPE : WARNING HORN

« POWER : 110/120VAC OR l[lﬂ”ﬂl]ﬂﬂl
o T

220VAC. 50HZ/60HZ |
« TRANSFORMER VIBRATING —© ) :
STS DIAPHRAGMS D)

* PROTECTION : | @ | _BLOCK WRING DIAGRAM_

EXPLOSION PROOF J J

FRONT VIEW SIDE VIEW

(EX tD A22 T85C IP66) SoTTon View
« SOUND : 130DB/1M
(ADJUSTABLE)
* WEIGHT : 1.5Kg ® ANCHOR BOLT HOLE ~ @ HORN BAND
¢ COLOR : MAKE STANDARD @ COVER LOCK BOLT ® HORN BODY
@ HORN COVER ® CABLE GRAND HOLE

] 8 Conveyor Safety Switch



WARNING HORN

SA-10EX—-L(F)
(EXPLOSION PROOF)

B SPECIFICATIONS

* MODEL : SA—10EX~—L(F)
* TYPE : WARNING HORN & FLICKERING LAMP
« POWER : 110/120VAC OR 220VAC. 50HZ/60HZ
* TRANSFORMER VIBRATING STS DIAPHRAGMS
» PROTECTION : EXPLOSION PROOF
(EX tD A22 T85C IP66)
* SOUND : 130DB/1M (ADJUSTABLE)
* WEIGHT : 2Kg
* COLOR : MAKE STANDARD

66

1N

.

J ﬁ@%

211

135
110

[I BOTTOM VIEW
|+t
® ‘ 19
107
SIDE VIEW
POWER r _____ —l
120V I |
| (o | @ LAMP ® HORN COVER
] | @ LAMP BRACKET ® HORN BAND
| :_1 ((SOU@J' @ ANCHOR BOLT HOLE @ HORN BODY

@ COVER LOCK BOLT CABLE GRAND HOLE
BLOCK WIRING DIAGRAM

DSS Co., Ltd. |9



WARNING HORN WITH LIGHT

DH-100EX-L
(EXPLOSION PROOF)

B SPECIFICATIONS

« TYPE : ELECTRON HORN
« POWER : AC 85—250V
FREE VOLTAGE
« SOUND : 125DB/1M (ADJUSTABLE)
« KIND OF SOUND : 5 TYPE
« LIGHT : LED FLICKERING
« PROTECTION : EXPLOSION PROOF
(EX tD A22 T85°C IP66)
« WEIGHT : 5Kg
« COLOR : HAMMERTION FE411

D—
@ ] @10 MOUNTING HOLE X 4
E i i i
@ 1T 5
© d e e ®
] ; i @10 MOUNTING HOLE X 2
/ e
10] 35 20 i 110
100
@ ® 145
207
@ LAMP ® HORN SPEAKER
@ LAMP HOLDER ® MOUTING HOLE
@ HORN SPEAKER COVER (@ CABLE GRAND HOLE
@ HORN BODY

BLOCK WIRING DIAGRAM

20 Conveyor Safety Switch



WARNING HORN WITH LIGHT

DH _1 OO EX B SPECIFICATIONS

* TYPE : ELECTRON HORN » PROTECTION : EXPLOSION PROOF

(EXPLOS'ON PROOF) + POWER : AC 85—250V FREE VOLTAGE ~ (EX tD A22 T85C IP66)

+ SOUND : 125DB/1M (ADJUSTABLE) * WEIGHT : 4.5Kg
» KIND OF SOUND : 5 TYPE * COLOR : HAMMERTION FE411

—® @10 MOUNTING HOLE X 4

/—©

o i

116
110
110

@10 MOUNTING HOLE X 2

10] 35 20 110
100
: 145
207
[ T
i | |
| | @ HORN SPEAKER COVER @ MOUTING HOLE
= @Di @ HORN BODY ® CABLE GRAND HOLE
______ d

@ HORN SPEAKER

BLOCK WIRING DIAGRAM

DSL—" 00 EX B SPECIFICATIONS

* TYPE : LED LIGHT FLICKERING « PROTECTION : EXPLOSION PROOF
(EXPLOSION PROOF) * POWER : AC 85—250VAC 50/60HZ (EX tD A22 T85C IP66)
FREE VOLTAGE * WEIGHT : 1.5Kg
« 1 PHASE * COLOR : HAMMERTION FE411
[N,

132
125

100

202

=

Q
Jﬂ)\

! [ |
i 110 i : 135 :

SIDE VIEW

@ ANCHOR BOLT HOLE
T @ COVER LOCK BOLT
®  BLocK WIRING DIAGRAM ® HORN BODY

® CABLE GRAND HOLE

POWER |
{0op! ® LAMP
— N @ LAMP BRACKET
=may
|

TOP VIEW

DSS Co.,Ltd. 2]



DFS—10EX (TILT TYPE)
(EXPLOSION PROOF)

HEX.16 DP10

2-NPT3/4"

300

@30

SIDE VIEW

FRONT VIEW

DFS-10EX(F)
(EXPLOSION PROOF)

HEX.16 DP10
2-NPT3/4"

2 8112
7 o] )
N : ]

192

APPROX 457

303

<
\ oS

FRONT VIEW
SIDE VIEW

22 Conveyor Safety Switch

l SPECIFICATIONS

TYPE : TILT

CONTACT CAPACITY : 15A 125VAC & 10A 250VAC
NUMBER OF CONTACTS : SPDT X 2EA

CABLE ENTRY : NPT 3/4" X 2EA

OPERATING: 20° £3° TILT MAX 70°

WEIGHT : 6Kg

PROTECTION : EXPLOSION PROOF

(EXtD A22 T85C IP6E6)

COLOR : HAMMERTION FE411

CONNECTION & DIAGRAM

g

NC COM NO NC COM

@176

P.C.D @139

@ BODY @ CONNECTION
@ TERMINAL COVER ® BELLOWS
@ FLANGE ® TILT SENSOR

B SPECIFICATIONS

TYPE : PADDLE

CONTACT CAPACITY : 15A 125VAC & 10A 250VAC
NUMBER OF CONTACTS : SPDT X 2EA

CABLE ENTRY : NPT 3/4" X 2EA

OPERATING PADDLE : MAX 20° =3

WEIGHT : 6Kg

PROTECTION : EXPLOSION PROOF

(EXtD A22 T85C IP66)

COLOR : HAMMERTION FE411

CONNECTION & DIAGRAM

¥l

NO NC COM NO NC COM

® BODY ® PADDLE

@ TERMINAL COVER ® PLOE

@ FLANGE @ CONNECTION
@ BELLOWS



BELT RIP SWITCH

DSR-100EX
(EXPLOSION PROOF)

B SPECIFICATIONS

« MODEL : DSR—100EX

« TYPE : MANUAL RETURN

« CONTACT CAPACITY :
15A 125VAC & 10A 250VAC

+ NUMBER OF CONTACTS : SPDT x 2EA

« WEIGHT : 3Kg

« PROTECTION : EXPLOSION PROOF
(EX tD A22 T85°C IP66)

« COLOR : HAMMERTION FE411

—— CONNECTION & DIAGRAM ==

@ COVER
@ BODY
e e ® MOUNTING HOLE
NO NC COM NO

NC  COM @ WIRE

DSS Co., Ltd. 23



PADDLE SWITCH

DSP-60 .

i PF 1/2"
@
| | /@
g
) L g10
e
@13
B SPECIFICATIONS =
« TYPE : PADDLE « FLANGE SIZE : 10K 50A. 10K 65A
« CONTACT CAPACITY : « CABLE ENTRY : PF 1/2"
10A 125VAC. 5A 250VAC « WEIGHT : 2Kg (200MM) @ BODY
- PROTECTION : IP65 « PADDLE LENGTH : 150mm—500mm ' @ NIPPLE
« NUMBER OF CONTACTS : SPDT ~ » COLOR : HAMMERTION FE411 5 oo oo %EEAA':?E
* PC COVER ® PADDLE
114
99
DSP-60-P — 1
i PF 1/2"
! | A®
[ ! I
[ ] [
o0 | S| 3
: (3381l<!>a7
§ia @
2 |
g2 —®

28

H SPECIFICATIONS

+ TYPE : PADDLE PROTECTION
CONTACT CAPACITY :

FLANGE SIZE : 10K 50A. 10K 65A

« CABLE ENTRY : PF 1/2" @ BODY

10A 125VAC. 5A 250VAC « WEIGHT : 3Kg (200mm) o % E'LF;\F,%E
« PROTECTION : IP65 « PADDLE LENGTH : 150mm—2000mm v
« NUMBER OF CONTACTS : SPDT ~ « COLOR : HAMMERTION FE411 ® PADDLE
- PC COVER

24 Conveyor Safety Switch



DS-75P

B SPECIFICATIONS

MODEL : DS—75P

CONTACT CAPACITY :

10A 125VAC. 5A 250VAC

CABLE ENTRY : PF 1/2" X 2EA
MEAS. PRINCIPLE : CAPACITTANCE
MEAS. RANGE : 150—1800mm
POWER SUPPLY :

AC 110/220V 50HZ/60HZ

DS-75W

H SPECIFICATIONS

MODEL : DS—75W

CONTACT CAPACITY :

10A 125VAC. 5A 250VAC
CABLE ENTRY : PF 1/2" X 2EA
MEAS. PRINCIPLE :
CAPACITTANCE WIRE TYPE
MEAS. RANGE : 0.5~MAX7.5M
POWER SUPPLY :

AC 110/220V 50HZ/60HZ

CAPACITY LEVEL SWITCH

OUTPUT : DRY CONTACT (SPDT)

PROTECTION : IPG5

MAT'L — HOUSING : AL.
SENSOR : SUS304

PROCESS CONNECTION :

PT 1" SCREW

WEIGHT : 2Kg (200mm)

COLOR : HAMMERTION FE411

 OUTPUT : RELAY CONTACT (SPDT)
+ PROTECTION : IP65
+ MAT'L — HOUSING : AL.

WIRE : SUS304.

+ PROCESS CONNECTION : PT 1" SCREW
« WEIGHT : 2Kg (200mm)
« COLOR : HAMMERTION FE411

130 ‘/—®
/ 2-PF 1/2/
4 -

B \
g
/ s
1] %
: / <
<
AR = g
. 3
® =
2
|
CONNECTION & DIAGRAM
@ @ ® @ ® ®

ZES =5

NC NO CcOM ov 110V 220V

® BODY
@ COVER
@ CABLE GRAND HOLE

@ FLANGE MOUNTING
® SENSOR

2-PF 1/2/

50~7500

CONNECTION & DIAGRAM
o @ 6 ® 6 ©®

EEEEER
|

NC  NO COM oV 1lov 220V

121

el

® BODY
@ COVER
@ CABLE GRAND HOLE

@ FLANGE MOUNTING
® SENSOR

DSS Co., Ltd. 25



DIAPHARM LEVEL SWITCH

H SPECIFICATIONS

« SWITCH RATING : 15A 125VAC.
10A 250VAC. 15A 14VDC

* INSTALLATION : SIDE MOUNTING

* MOUNTING METHODE : FLANGE

DS-100R

o e

s

2195

Bl

P.CD @171
214

E
B

CONNECTION & DIAGRAM

Ivase!

NO NC COM NO NC COM

BODY MATL : AL
PROTECTION : IP 65
WEIGHT : 2.5Kg

COLOR : MAKE STANDARD

PF 3/4"CABLE GRAND

6-@12HOLES

@ BODY

@ COVER

® DIAPHARM COVER
@ CABLE GRAND HOLE
® MOUNTING HOLE

l SPECIFICATIONS

« MODEL : SSC—-01
» TYPE : PANNEL MOUNTING
FREE SETTING
« MOUNTING : ABS DIN RAIL
CONTROL SPEED : 2~9999 REV/Min
* POWER : AC 85 ~250V 50Hz.
60Hz Free voltage

SSC-01

26 Conveyor Safety Switch

« SETING : FREE SETTING

« OUT PUT : RELAY. SPDT X 2EA

« DISPLAY : SPEED DISPLAY
(7—Segment) FND DISPLAY

« PROTECTION : IP 40

« TEMP: —15~+85°C

« WEIGHT : 200g

Ll

7 8 9

0 - GND
PROXIMITY SENSOR

POWER( 75-250VAC FREE)

® SET BUTTON

@ RELAY ON/OFF LAMP
@ FUNCTION BUTTON
@ CABLE TERMINAL

® SPEED DISPLAY

® BY PASS BUTTON





